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Subject (sl) Verb (sl)

7
L %4

*

01.

02.

03.

A AT GASPI T
Pret @ = W (o | (312 o e FRIA)

R } '

Sub Verb Sub (sl) Verb (sl)

(Rule-01)

Subject (sl) + Verb (sl)

Subject 3@ Singular =7, ©F Verb 8 Singular 27|
Example:

H t hool.
l_e go—ef 0 schoo ®  Singular (Verb) &7 32& SA:

Verb 5732 ‘S’ & 29 | @=:

The big room is air-conditioned. goes, eats, is, was, has, does.

This book was first published in 1985.

effSTRIPTSIETe e e{rys T -

N AE , Reyfvre @ [t o7/ 515 51T AR Q0 ST
FACO ARCEIR @ @I AfSRTSIFTE AT S F41 A7 |

The big room --- air-conditioned. [&.~R.F 53-39]
A.is B. are C. should D. do Ans. A

Shortcut =: Subject I Singular 7, ©t3 Verb foe Singular 263 |
A Subject (The big room) == Singular, ©1® Singular Verb (is) 2 | ©1% Teq & (A).

The headmaster --- to speak to you. [DU (A) 05-06]

A. wants B. is wanting C. was wanting ~ D. has wanting Ans. A
This book -—-- first published in 1985. .. ¥ 08-o0¢.

A. has been B. was C.is D. was being Ans. B

Shortcut TF=: Subject 3 Singular =7, ©t3 Verb 58 Singular =3 |

I oR Subject (This book) == Singular, ©1% Singular Verb (was) 23 |
ety is @R was b2 Singular Verb 8 Tex is 71 =03 was =,

e Aee 37T (1985) T 4w Sentence 5 past Tense -9 = |
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06.

07.

08.

09.

10.

11.

12.

13.

14.

15.

16.

This book --- to my uncle. [DU (A) 03-04]

A. belonging B. belongs C. was belonging D. is belonging Ans. B
The United States of America --- a rich country. [HSTU (E) 14-15]

A. are B. were C. was D.is Ans. D
The United States --- a big Navy. [CU (G,H) 09-10]

A. has B. have C.is D. was Ans. A
Cultural Studies --- a new meaning of Cultural. [JnU (B-Adv.Eng) 09-10]

A. gives B. give C. offer D. showing Ans. A
Gulliver's Travels --- wonderful to read. [RU (A- =) 15-16]

A. has B. are C.is D. were Ans. C
The Arabian Nights ---- still a great favourite. [26th Bcs, A% 2o faa-53 ]

A. has B. are C.is D. were Ans. C

Shortcut =: Subject I Singular =7, vt Verb fbe Singular 263 |

IT: Subject (The Arabian Nights) 2T Singular, ©1R Singular Verb (is) 23 |
©1% Teq 2(d (C).

Forestry --- my favourite subject. [CU (CI) 14-15]

Physics (be) my favourite subject.  [City Bank-11]

Physics --- a diffcult subject.

A. are B. will be C.be D.is Ans. D

Ethics --- the study of moral duties, principles & values. [COU 09-10]

A. are B.is C. are about D. deal Ans. B
Romeo and Juliet --- an unforgetable play.

A. are B.is C. have D. had Ans. B
Tom and Jerry --- nice cartoon.

A. are B. have C. had D.is Ans. D
I - the 9™ letter of English alphabet. A4, ov-d0.

A.is B. are C.am D. will be Ans. A

Shortcut @™ Subject ™ Singular &, ot Verb 58 Singular =7 |

gt e (1) letter f=omes sz | ©1% (1) first person =1 2@,

3" person (Singular nember) 24 |

R Subject (I) 2= Singular, ©1% Singular Verb (is) 203 | ©I T8 23 (A).
I --- for 1(one) in the Roman system.

A. stand B. stands C. standing D. have stand Ans. B
His mathematics --- weak. [JU (o) 09-10]
A.is B. are C. have D. none Ans. B
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18.

19.

20.

21.

22,
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T AR SASHIT CFI:

PIel @ e[ (OFF | (SPIR o SpTe @)

Voo | |

Sub Verb Sub (pl) Verb (pl)

(Rule-02):

Subject (pl) + Verb (pl)

|

Subject 7@ Plural =, 3 Verb fi¢ Plural %31

Example:
They go to school. = Plural (Verb) GF & S
Tomatoes grow all year long in China. Verb a3t ‘S’ 3% =70 91 | @:

goes, eats, is, was, has, does.

feoa Ty o ol e Fg- = foma 7 - dvov.

Tomatoes grows all year long in China .

A. Tomatoes B. all C. grows D.in

Shortcut &= Subject 3 Plural =71, ot Verb e Plural =3 |

T Subject (Tomatoes) == Plural , 1% Plural Verb (grow) =3 |

8 @t¥ (grows) Singular Verb f&1t3 ©ite | ©1 271% 9 |

Rabindranath’s stories often ---- surprise ending. 5.4, T 0o-0).

A. had B. have C. has D. have had

Shortcut @™ Subject T Plural =, ot Verb s Plural =3 |

IT: Subject (Rabindranath’s stories) 21l Plural , @€ Plural Verb (have) 23 |
A0 W (often) *fG A<=, AtHG Present Indefinite @ ==

--- there any nursing schools --- Chittagong? [DU (B) 11-12]
A.ls, at B. Are, on C. Was, in D. Are, in
These grapes --- sour. [DU (B) 06-07, RU (E-ft&me) 14-15]

A. tasting B. are tasting C. tastes D. taste
The memoranda --- not important.  [RU (r&fi@&«)09-10]

A.is B. has C. have D. are
Where --- all the boys ---? [DU (B) 11-12]
A. has, gone B. have, gone C. did, went D. dose, go

Ans. C

Ans. B

Ans. D

Ans. D

Ans. D

Ans. B
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[ Parts of speech..

» grerais Parts of speech @ Code 43,
ly I& *% @19 Parts of speech o 3&er (378 4o ¥ |

Noun @3 code -1

Pronoun @3 code -2 2B
Adjective @3 code -3 « . Code 22 .
Verb @3 code -4

Adverb @3 code -5

Preposition € code -6

Conjunction € code -7

Interjunction @9 code -8

» G5 G I S 07 6, ly I =171 9gE Adverb.
%8 ly 3= = Adjective 8 Adverb 7f62 2t ~Ita | @=:

U Rule-01:

Noun(1) + 1y(2) = Adjective(3)
Noun +ly = Adjective it Code PG,
Father (1) +1y (2) = Fatherly 3) | Noun =1
Mother (1) +1y (2) = Motherly (3) ly =2 (ly Tt & 5 3¢)
Home (1) +1y (2) =Homely 3) | Adjective =3
Friend (1) tly(2) =Friendly (3) | @2 Fatherly, Motherly = Adjective.

XA CE M (O]
Noun(1) +1ly(2) = Adjective(3) Noun(1) +1ly(2) = Adjective(3)
Father +1ly = Fatherly (Fiorm®) God +1ly = Godly (mes/ft)
Mother  +1y = Motherly (SFArET®) Earth +1ly = Earthly (°1f&)
Home +1ly = Homely (9zemre/ 71€y)  Week +1ly = Weekly (i)
Friend +1ly = Friendly (I%g=¢) Year +1ly = Yearly @fw/ast)
Man +1ly = Manly (s sae/wmee~y) Water +1ly = Waterly (51¥r)
King +ly = Kingly (&) Heaven +1ly  =Heavenly (397)
Wife +ly = Wifely (F= &g%) Woman +ly = Womanly @& wces we)
World +1y = Worldly (#if43, sif@)  Love +1y = Lovely ¢rm, s
Coward +ly = Cowardly (8% ToI7, FFEIS)
+ fog Ife@d Adjective: Elderly (I@men®), Ugly (1), Sickly (2 Spg =7 @ ) |
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Rule-02:
Adjective(3) + 1y(2) = Adverb.
Adjective +ly = Adverb T Code S,
Nice (3) +1y (2) = Nicely (5) Adjective =3
Bad (3) +ly(2) = Badly (5) Xd ) = z (ly FAICT 2 5 3)
. . ver =
K1.nd %) tly@) - thndly ®) ©I® Nicely, Badly, Kindly = Adverb.
Wise (3) +1y (2) = Wisely (5)
> FFRASII
Adjective(3) + 1y(2) = Adverb.
Widely (@eema) Weakly (73To1t3) Excellently(PISFE ©IC)
Beautifully (FW<eItd) Differently (EWTSICI) Actively (Ff&zeid)
Hopefully (SMewFeoltd) Carefully (IFRIIA) Fearfully (SC3R AC¥)
Brightly (TsgeTeicd) Certainly (7°532) Cruelly (Fg=eia)
Conveniently (Raremzel3) Definitely (ffv®eItd) Dangerously (Rrmemer)
Really (2F©CF/ I693) Innocently (RTHI®ICR) Locally (ZRT®1H)
Marvellously (Rr@sercs) Eagerly (STIG2S ) Quickly (F9 , FoCIc)
Nearly (/2 =wcT) Obediently (I2*A¥ 20X) Practically ()
Quietly (*€S[) Strongly (JP®IC) Successfully (FTFeTSICI)
Violently (26%9[t) Bravely (JTRGAF Cx) Gladly/ Joyfully (S >2r)
Vigorously (FTSCE) Angrily (Fa®I) Attentively (SCAIGAM F&HICH)
Neatly/ Cleanly (*ff®=eic) Carelessly (S/CRS AMCY) Curiously (TTEZ =)
Courageously (3R %) Enviously (3rdifTee) Frightfully (S3%<eIC9)
Gloriously (CTRRGFSICR) Meaningfully (S{eHFoICd) Softly (TFNETSIC)
Hummorously(3Pe! FF) Ignorantly (SS[) Wildly (ITSTI/TA@SII)
Openly (TARTYfETSIR) Patiently (3X& 31C%) Silently (S1FCR)
Sorrowfully (8T 30 Surprisingly (Sr53ew) Rightly (7S, Jfe5ifer)
23. He actually wanted to have motherly affection from her. FER[F, 4 33-59
A. noun B. adjective C. adverb D. none of these ~ Ans. B
24. The adjective of the word ‘friend’ is A, 2032-39, TSI fA.50-5)
A. Friendship B. befriend C. friendly D. friendliness Ans. C

25. Their friendly behaviour pleased the guest. Here 'friendly’ is-
[BSMRSTU (B-Unit) 11-12]
A. an adverb B. anoun C. an adjective D. aconjunction  Ans. C
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The word ‘homely’ is- Medical admission: 2013-14, 5I.].2TRG-9, 0v-08

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

A. noun B. pronoun C. adjective
The word 'manly’ is a/an - [CU A- Unit 06-07]
A. noun B. verb C.adjcetive

D. verb Ans. C

D. adverb Ans. C

We are to cosider his fatherly affection. Underlined word is a/an-

A. noun B. adjective C. adverb

[KU A-Unit 13-14]
D. None of this Ans. B

Which one is the adjective of the 'world'? [BSMRSTU (B-Unit) 11-12]

A. worldly B. worldily C. worldless D. worldwide Ans. A
Our teachers are friendly and scholarly.

Here the underlined words are.... [CU D1 & D2- Unit 16-17]

A. adjectives B. Nouns C. adverbs D. prepositions Ans. A
Coward 93 Adjective X -

A. ferocious B. coward C. cowardly D. cowardeous Ans. C
Which is the adjective form of the word 'Heaven'?

A. Heavenness  B. Heavinity C. Heavenly D. Heavned Ans. C
Which one is an adverb — 3. 2SMG-E (free) s8-s¢
A. dirty B. ugly C. wisely D. holy Ans. C
The word ‘slowly’ is a/an —2.R.ZTFG-E (Rreme) oa-ox

A. noun B. verb C. adverb D. adjective Ans. C
Which of the following words is an adverb? [SAU 11-12]
A. lonely B. homely C. lovely D. quickly Ans. D
The word 'Adjectivally' is a/an-

A. noun B. verb C. adjective D. adverb Ans. D
Which is the correct sentence.

A. Hena accepted me brotherly B. Hena accepted me in a brotherhood way

C. Hena accepted me brotherly way D. Hena accepted me in a brotherly way ~ Ans. D

Which is correct sentence?

A. Nazneen always loves me friendly.

B. Nazneen always loves me in friendly.
C. Nazneen always loves in a friendly way.
D. Nazneen always loves me friendship.

Ans. C
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[ Noun ]
* Noun &S 72 &3/ | Noun

v v

Countable Uncountable
=  Countable noun:
Book - Books, Pen - Pens, class - classes.

=  Uncountable noun:

Singular

Money

Rice
Food
Water
Milk
Traffic
Fun

v

No Plural.

Scenery
Work
Luggage
Mars
News

| o =td Article 3T A1

39.  Which one of the following is not Uncountable noun? ¥.f. {99 55-5%

A. scenery B. work C. luggage D. student Ans. D
40. Which of the following words does fall under Uncountable noun? Sust ov-o5.

A. Star B. Rice C. Field D. Foe Ans. B
41.  Which of the following is an Uncountable noun? <=1 Sfqwets €1 ogRYEs -0l

A. pen B. shirt C. book D. food Ans. D
42.  Which kind of noun is 'fun'? A Sfametes 7R, “IfbERe-s.

A. Uncountable B. Countable C. Common D. Material Ans. A

10
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% (Rule-05):

Uncountable noun X9 Singular, ©i% @3 At Verb 08 Singular 3|

43. Mars --- a planet in our solar system. .7, ¥ ob-do0

A. are B.is C. will be D. was Ans. B
44. No news --- good news. .7, T ob-d0

A.is B. are C. was D. were Ans. A
45. The news --- always bad now- a- days. 1., 0o-0d

A.is B. are C. was D. were Ans. A
46. ---is not the only thing that tourists want to see. 24™ Bes

A. A scenery B. Sceneries C. The sceneries  D. Scenery Ans. D

X/
L X4

(Rule-06):
Many + countable

Example:
= He has many books .
¥ noun < plural form.

47. There aren't ---- people here. [CU (I) 13-14]

A. much B. many C.alot D. some Ans. B
48. --- thanks goes to you for your generous help.

A. Little B. A little C. Many D. Much Ans. C
49. Peter & Carlo don’t have ---- children.

A. None B. many C. Much D. Some Ans. B
50. There are too many --- during the television shows.

A. advertising B. advertisement C. advertisings D. advertisements Ans. D
51. How many engineering -—- --- there in Bangladesh? BI.R.< S0-5

A. university, is B. universities, are

C. universities, is D. university, are Ans. B

52. --- people trying to get into the football stadium? IIACACINCIN

A. There were too much B. There was too many

C. There were too many D. There was too much Ans. C

11
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% (Rule-07):

[Much + Uncountable}

Example:
= There is much water in the pond.

53. How --- money do you have in your pocket? reion= 2o ffeor seefica=s -5
A. many B. few C. much D. a few Ans. C
54. Do you have --- to do this afternoon? if not, I'd like to take you to a movie.
A.many work  B. much work C. many works D. much works Ans. B
55. 1don’t have --- spare time these day. [01.R.4" 03-03]

A. many B. much C. some D. more Ans. B
56.  Fill in the blank with right option. I don’t take - tea. 3. 53-5%

A. much B. many C. too many D. more Ans. A
57. They spent --- time considering the new contract. 5./.9 o9-ov

A. too much B. Many C. too D. many Ans. A
58. Is there any milk in that Jug? not -——. BI.R.¥ 0d-02

A. None B. too many C. Much D. Some Ans. C
59. There is --- on the roads today. 51./.4 o¢-0v

A. too many traffic B. very much traffic

C. too much traffic D. few traffic Ans. C
60. I’ m trying to calculate -----. 5.9 08-0¢

A. how many money you owe me  B. you owe me how much money
C. you owe me how many money  D. how much money you owe me Ans. D

61. 1did not have --- luggage, just two small bags. 5./5."4" o»-30

A. little B. much C. many D. few Ans. B
% (Rule-08): [ Few + countable }
Example:

= | have got a few friends, so I am not lonely.

62. 1have got -—- friends, so I am not lonely. 5.7.¥ 0-5
A. alittle B. little C.afew D. few Ans. C

12
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64.

65.

66.

67.

X/
L X4

68.

69.

70.

71.

72.

73.

74.

75.

He has --- friends in Chicago. [CU (G) 14-15]
A. few B. few of C.alot D. much E. much of Ans. A
He lost --- few books he had. Choose the correct option - [RU (D) 15-16]
A. the B.a C. some D. one Ans. B
I have ---- enemise, but they do me ---- harm. [JB 10-11]
A. no, little B. many, many  C. little, much D. a few, little Ans. D
The newspaper reports inform that women driver have --- accidents than men.
[CU (CI) 12-13]
A. less B. least C. lower D. fewer Ans. D
There were --- guests than we expected.
There are --- students in this room than in the next room.
We had ---- applicants this year than we had last year.
A. less B. lesser C. fewer D. few Ans. C
(Rule-09): [ Little + Uncountable }
Example:

There is little water in the pot.

She sold --- milk. 31.9. o5-Y

A. little B. small C. least D. heavy Ans. A
The glass on the table contains --- water. &SR J. ov-0q

A. alittle B. a few C. many D. several Ans. A
There is --- milk in the bottle. IIAGACIP N

A. very few B. any C. very little D. many Ans. C
There is -—- hope of his recovery. bR ‘4" 0-5)

A. many B. little C. very D. few Ans. B
I would like --- salt in my vegetables. LAGAIN ST

A. few B. a few C. alittle D. many Ans. C
I still have --- money in my pocket. *1.R.4.M. ob-ob

A. alittle B. many C. few D. a few Ans. A
She speaks --- French.

A. few B. a few C. little D. many Ans. C
Tamara speaks very --- Russian, but she knows --- words. [IU (B) 11-12]

A. little, a little  B. little, a few C. few, little D. a few, few Ans. B

13
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% (Rule-10):

Few

!

9977 / iR 3R 50T = almost no

X/
L X4

(Rule-11):

a Few

TL???WC?T =some

76.  Which one of the following is the correct meaning of ‘a few’? 5.4, ‘I’ 0v-08

A. Not many, hardly any B. Not many, but all there are

C. Some D. Not much Ans. C
77. ‘He has few friends’ means he has--- 5.R.% o¢-ov

A. no friend at all B. almost no friend

C. some friends D. a few friends Ans. B
78. IR IF IR IR 5¢1- Which on is the correct English Translation?

A. I have a few friends B. I have no friend ¥ GERSEr dorE WaFe-s0

C. I have few friends D. I have little friends Ans. C
79.  Choose the correct sentence. JRETATH AT IF IR IR BT |

A. 1 have a little friends in Bangladesh AANE @ WG ~ifm IS -08

B. 1 have little friends in Bangladesh
C. I have few friends in Bangladesh

D. I have a few friends in Bangladesh Ans. C
‘2 9357 afeG 2 snye

Y F(F 7, IR B, 70, Code '8 (@R AR FPAR
(5724% TAPOSH I3 FICR (<0 (SR F1 00 |
&y TAPOSH 177 Facebook 212790 &t I& 20O
Mob: 01755-314107 Or WhatsApp 01757291138 s caiicam 3=+ |

14



English Code 3’53 areral 5ot 148 36 7,

%%, =7, Code '8 (FMTFR AT AT AR |

English Code Code, @, &R '8 =9 W e

K/
L X4

955 verb =T Present, Past @3
Past participle 932 337 |
izt AfRIST - |

GH (R G0 (WTF 2K Read 75
JT Cost IR FCT |
©ICF O ¢ Quit

O G0 (=T 1z Fe Wed |

TRE S 2 (°F Hurt |

SRR (RE0 SIF %9 A 6 Bet e
93 (T FAHIR OF AN A 03 Trust
7« Set 4T ARCS Put AR =0 |

G (= GG Gheeias s
FItz e 9616 75 Broadcast F4Ce
B30 NIfeTe S e Let @R @t &5 341 Telecast 2 |
oG vifafacs =i et Spread |

TG A TGO T4 SIS AR SL Ao

(O 2I%eeT Burst | qifecs Hta (e

e Hit 3@ IR e e Cast |

Sl Y0¥ Y 4 e Spit | @i G IRE s e
viFet 39 3@ Shut =¥ e Shed e 3= fofea Wet @@= e |
R. @ 92 7% R e et Bid i@ e Thrust BT
Fife1 41 Split T |
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Present Past Past Participle

form (V,) form (V,) form (V;)
Read (s1%) Read Read
Cost (77 341, AN =) Cost Cost
Cut Cut Cut
(30T, SIoex Arean, [oe 1/ FTHa1 5341 A1 Tl Tl F40)
Quit (S 31/ J& 41/ & I/ (=Ce AAT) | Quit Quit
Wed (arz <1/ e onaan) Wed Wed
Hurt Hurt Hurt
(TR (ASRT/ SEr® F41/ AT (MeA1/ S )
Bet (&t ar4r) Bet Bet
Trust (w7 40) Trust Trust
Set (= F40) Set Set
Put (3m21) Put Put
Broadcast (372pIF 41/ (IOIF () Broadcast | Broadcast
Let (Sifs (maar) Let Let
Telecast (AW @b 1) Telecast Telecast
Spread [TZE] Spread Spread
(2T T, T TeIRAT #IeT A (1A
Burst (T35 “el, RTFR, TFa1 GFa1 F41) Burst Burst
Hit (S9re ) Hit Hit
Cast (09 <11/ =I6 (e Cast Cast
Spit (Y L =) Spit Spit
Shut (3% F41) Shut Shut
Shed [t*re] (S ReTeE 41/ IT) Shed Shed
Wet (feter anean) Wet Wet
Bid (<=1 =) Bid Bid
Thrust [gF5] Thrust Thrust
(T (medl/ < (MRl (v 4T/ i w4
Split Split Split
(T 1, BCAT 0 O, O 4T
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T verb @F (T ‘e’ AT vY ‘d’ T FI
Past (V,) @ Past participle (V;) 07 31 =7

% (R IS4

I (ONTE 22w S Like € 39 SFRIT Love
O SN 7We A1 9 Live

T SIS S BfE Hope

TONE &+ J=eoe AT Die

TONR v’ Compare & =

SIErel (NE MtE < yitre wifewm A1fF Gaze |
% @EftT o7

Ol (B A”E Dare @ iyl 1 341 Lie |
fRrymIes =i 9o 3f Hate |

AT o S St Charge 96 |

T8 eafbe 9 (die e siees AR

T=eTG AR G ©ICeTRIeT |

G (0T I-T ARG 8wl Advice e
(RCG COIR S Ag fed Care ©fF Ot Ry 63 Are |
G Reace e =T Agree |

= Sicze A Arrange 2 |

faea qIfere Wt o5 Dance 26T @R

e 577 Complete == | 37 8 ¢ &L &7 @36 Place 0% 3 ¢ifis wepE
Move =0T @ F TAS Arrive 20 v Ge 35 Close I A9 8 ST |

.8 : @@t D. C’3 5= o= |

Divide Change
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Present (V) Past (V,) Past Participle (V3)
Like (°/2% 1) Liked Liked
Love (S=3PT) Loved Loved
Live (3™ 1) Lived Lived
Hope (=1 40) Hoped Hoped
Die (I1) Died Died
Compare (9591 5410) Compared Compared
Gaze (¢7%1) (9% wfgrs sifem 2=, | Gazed Gazed
Look fixedly- S#=< 7f8Ce SIICT)
Dare (3723 <41) Dared Dared
Lie (fr=r e 2= 1) Lied Lied
Hate (o7 <41) Hated Hated
Charge (Sfewam <) Charged Charged
Advice (S (mea) Adviced Adviced
Care (35 #1e) Cared Cared
Agree (&l EA) Agreed Agreed
Arrange (SCAE 41/ 598 F<1) | Arranged Arranged
Dance (Jo5 34) Danced Danced
Complete (375 1) Completed Completed
Place (9, 799, &Y, *I=F) Placed Placed
Move (serm zear, 7ot 3 worer, gaes s | Moved Moved
Arrive (SHfgs =€, oNerer) Arrived Arrived
Close (3%) Closed Closed
Divide (o F41) Divided Divided
Change (ARaes <) Changed Changed
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< VERB + (TO + VERB) :
559 32 Verb w19 4@ 9+ Verb 1 @ Verb @7 Infinitive(to+Verb) =7

57 ®I% (To + Verb) <7 vIFH o4

57 ©18 o AfgPgaT (Plan) $9¢1 @ (1 930 (AP &¥i] (Offer) e

©IZ (7 WP BIFT S@Ae (Arrange) 3¢ s (Prepare) e A oeafba
AN I/ Qe (Appear) =03 fadi/ ¥owe (Hesitate) =1 20 (CAGTS

e (Ask) CONITE ORIt (Love) , (SItes Awee (Need),

coreE S (Hope) 3, o™ ey (Expect) 31 |

O (A (=G gl (Threat) W #ieeT comE 5 307 =7 (Seem)
O SR @7 (Deserve) (I ARG S Wit (Demand) 9 1

SRR (VAT (RG0S &fIe (Refuse) 6 50T ¢34 |

O3 5 SIETRPT 54 (Fail) =00 (RfBe 9ot (Forget) TSR (BB S0 |
O OF 9F IF ©IcF FeiceT 99 (Fail) Wit < 719 9=

(Fail) *t#= =& First attempt in learning St = 22 479 |

O I DICR I T W 5 O IS =1 (o1 2lfoxkfs (Promise) e
R afel (Intend) ST OGP AfE (Agree) I99 GR Mannage 3 ORI
s (Consent) S ¢ Q9 TR |

O TREG (RGP o (SIS Foyicad b1 (Want) €2 5reaF &

aersl/ @ (Tend) SR W45 & &40 (Pretend) (7% | 94 (R I o
R O G5 Sl (Wait) T4 oive #f1 comies Brae (Deciede) @919 |

SRR ST 27 TICAT (I A Qe (=BT =Sl OF S| 16 SR (Mean) (7% |
g o~ SIve [ Ifore &7 «e e e o161 3g-1%9 o1 it Wish S
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Plan - &g <41

Offer - &=¥I] 31

Arrange — T 1/ e
Prepare - 28/ 2 26l
Appear - 751w/ 2ifew 2eq
Hesitate — a4/ Towe a1
Ask — 3=/ T&teest @41

Love - SRt

Need - @& &

Hope — =i <1

Expect - o 1

Threat - g @ewl/ O (A
Seem - TF &N

Deserve - @y &3
Demand/ Claim - 7t 41
Refuse - oyl <1

Fail - 5 g

Learn — @ 4
Attempt - 631 31
Forget — 90T &

Promise — &fsspls/ AT (et
Intend — afser w1/ g F41
Agree —3if&r 2@

Manage — 33g &1
Consent - ®f® mear
Want — siexi/ 512

Tend - eRersl/ @/ 2= rEx
Pretend — =191 S0
Wait - <ol 41

Decide - Praie (e

Mean — TR/ << &= Sl
Wish — 2oy cofrae i1

Example:
= | was decided to marry her.

08. I was decided --- her. [RU (C) 10-11]

A. marry B. to marry C. marrying D. married Ans. B
09. We demand ---our status. 31.R. 52->©.

A. know B. knowing C. to know D. knew Ans. C
10.  One of the least effective ways of storing information is learning--- it.

[CU (C) 10-11]

A. how repeat B. repeating C. repeat D. to repeat Ans. D
11.  The prisoner attempted----three times. [HU (C) 10-11]

A. escaping B. is escaping C. to escape D. escaped Ans. C
12. My uncle decided ---- me and my sister to the market. [RU 05-06]

A. take B. to take C. taking D. takes Ans. B
13.  Choose the wrong option from the sentence. [JU (C) 14-15]

When they a) have been o) frightened, as, for example, () by an electrical storm,

dairy cows may refuse (a) giving milk. Ans. D
14. Iloved to play chess when I was at college. Here “to play” is a/an-

She loves to cook Chinese dishes. The underlined word is a/an- [JU (C) 15-16]

A. participle B. noun

C. gerund

20
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¢  Verb + Verb (ing):
=R Verb @R %t S0 Verb T @ Verb &R #It (ing) Q@M I90S = |

Shamim BT ©IfFffre ©f$ (Admit) =7 |
TR ]I T S (Understand) #IeT ©49 ©F TR (Appreciate) ([T ¢ |

T QR Ted Bl (Discuss) @ Shamim & 9 (Recommend)
P @, University TS Bt 32 (Risky) 316 @« 3% (Stop) I @R FRPN
Aeeite S (Practise) @ &9 (Quit) FF | SR @ W-IRT Shamim &
(Report) Fcsiw Versity $ & (Finish/ Complete) 3 @t 1@ (Delay) =t
A OerelfG Varsity @GSE @@ Fd We7 | 68 ©F M-9[@7 S e
(Avoid) fi Reawar (Consider) a1 36 I S@BE (Deny) 99 |

©12 OF W-A-T Shamim @3 T»F & (Resent) T @3k MG A OF Afodgao!
(Resist) 8 =1 qfSx MY @ efoswer fF z@we Gt TR & Shamim
@ GF @t AfE omcefET | G «F W (Miss) @ e Shamim 2T M2 cS
P T | WAl (NRAG OF AW Sore (Enjoy) 9% | ©12 Shamim =G
TTeid (Postpone) I < (NRAGI AN P feens S (Mention) 36 ¢
I 9 T AT A2 9N 6 == 20F | @ FAT S @@ @0 W Shamim & 8@
7ot | Q18T (A @ AT 71 (Resume) & 997 |

IR @ oG e (Recall) <P fwews (Tolaret) 90 ARfRe =)

e Fice vz (Regeret) M 7 01 ¥ ! T ! (NGBS AW IR
TS (Keep) #IRETN 1 | O JOMe Sy FRS = (R |
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+% AR verb TI9 %9 &7 19 verb WP @ W verb @ Y

15.

16.

17.

18.

19.

20.

21.

22.

23.

FPTR- ing T FACS TJ |

Admit - of zear

Understand - JRTS [0
Appreciate - SR 40, Wl (e
Discuss - SCADS 1
Recommend - eiifa <1
Risk - 3f® vean

Stop - = 41

Practise - SR 4T, 55f 1
Quit - () 7efay vt

Report - Reais (et
Complete/ Finish- ¢ 31
Deley - e/ w1

Avoid - @S anear

Consider - Rtavar w41

Deny (fa1R) - S¥<R 41
Resent - 7@ =, i 92 w1
Resist - efeqfhiael 78 1
Miss - XS (@4 40

Enjoy - S#iters =1

Postpone - eTefq At
Mention - S 41

Resume - 77907 &F S0
Recall - 19 %41

Tolerate - 3y 1

Regret - ( 0ab) g ewm 1
Keep- amar

Examples:
We enjoyed talking with your friend.

The submarine dipped to avoid --- by the enemy plane.

A. being seen B. seeing

C. see

D. seen Ans. B

When you are in Rajshahi take time to stop --- Varendra Museum. [RU (D) 14-15]

A. having seen B. seeing C. and see D. for seeing Ans. B
I regret --- Sarzina about the wedding. [RU (D) 14-15]

A. tell B. to tell C. telling D. of telling Ans. C
I enjoy --- out for fieldwork. [RU 09-10]

A. go B. went C. going D. much Ans. C
She is considering not (go) there. [RU 03-04]
A. to going B. to go C.go D. going Ans.D
Karim stopped --- letters to me. [RU 09-10]

A. to write B. writing C. to written D. wrote Ans. B
Stop (to write) as the bell rings. [RU 08-09]

A. write B. writing C. wrote D. written Ans. B
The government is considering --- a new international airport. [DU (C) 11-12]

A. to build B. building C. to have built D. for building Ans. B
Do you enjoy-?  [JU (D) 06-07]

A. hike B. to hiking C. hiking D. to hike Ans. C
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24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

3S.

36.

37.

Does your little brother enjoy --- horror films? [DU (D) 12-13]

A. watch B. to watch C. watching D. watches Ans. C
We have postponed --- anyone the news until after Eid. [NU 04-05]
A. telling B. to tell C. to be telling D.will tell Ans. A
I can remember --- voices in the middle of the night. [CB 06-07]

A. was hearing  B. heard C. to hear D. hearing Ans. D
I’ m sure I locked the door. I clearly remember --- it. [JU (B) 11-12]
A. to have locked B.to lock C. locking D. none Ans. C

Strauss finished --- two of his published compositions before his tenth birthday.

[BARRON’S TOEFL, P-75]
A. written B. write C. to write D. writing Ans. D
I remember --- France when I was young. [IU (B) 11-12]

A. visit B. to visit C. visiting D. none of the above Ans. C
She mentions --- at EI Paso in her letter. [JU (IBA) 11-12]

A. stopping B. stop C. to stop D. stops Ans. A
He had to stop --—-. [NU (Arts) 12-13]

A. smoke B. smoking C. taking smoke  D. smokes Ans. B

These days, most of the teenagers enjoy --- music on their cell phone.
[BRUR 09-10]

A. hearing B. to listen to C. listening to D. listening Ans. C
Morina suggested --- to a party. [JU 09-10]

A.to go B. go C. going D. went Ans. C
Which one is a correct sentence? [JU 09-10]

A. The wind stopped to blow. B. The wind stopped to blowing.

C. Wind stopped after blowing. D. The wind stops to blow. Ans. B

She is considering not-.

A.to go B. going C. goes D. gone Ans. B
I missed ----the news when I was traveling.

A. watching B. to watch C. watched D. watches Ans. A
Humayun Ahmed finished --- two of his published composition.

A. written B. write C. to write D. writing Ans. D
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% fAyFf® verb &= Continuous form =34
QIS stative verb T linking verb < 2| Stative verb T 2=:

Adobe Stock | 123995954

OF AR (R G0 SEET QAP SIERPICS (Love) 12 (Want) @3
Vo7& S e (Know ) aaiss Ot SR 432 7'w 946 (Like) |

geeas Wy 4&2 (Understand) 3@ | TIQ@T (@0 478 4 (Believe) 391
©12 w7 [foy sz ©afgs (Appear) =6 PR (Sound) FIBICS #=CT |

8 yava 2o (IS (=BT I

[ haven’t need you (SN CSINF STAE (7R) |

(RCITD PR GINCS BIRCE O (NG LI SN NG =27 (seem) 9N FCA]
e e (Own) 6d (e 1 912 comsm wify ger (Hate) 9/ 1

SR 2 G yReece Wish 0 Sfieg® (Belong) (A0S 52 & |

L *f2e FFTTR-
eI 3er rdl (See)

JICNF Frer <91 (Hear)

FCPE PIe el (79eAl (Smell)
fEr=aq 1o TV (e (Taste)
G e weyed (67 (Feel)
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fqFfR® verb @t Continuous form T34 |
Qe stative verb 1 linking verb I¥1 | stative verb T ==

Love Seem
Want Own
Know Hate
Like Wish
Understand Belong
Belive See
Appear Hear
Sound Smell
Have Taste
Need Feel

Examples:

= Incorrect: She is loving me now.

= Correct: She loves me now. ( 7 935 S SEIPNR | )

@It now  AFR AAe “love” verbfl 4™ F=ee sentence & continuous 71 =
present indefinite 2CACR |

38. She ---—-me now.

A. is loving B. love C. loves D. to love Ans. C
39. We -—-to leave now.
A. is wanting B. to want C. wants D. want Ans. D
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Linking verb/ Copulative verb

= Linking verb connects the subject and subject complement.

» R&: Subject complement =S #td Noun, adjective and phrase.

= Linking verb provides additional information or describes the subject.

= Adverb is not used as subject complement with the linking verb.
(only noun, adjective and phrase).

= Linking verb acts like an equal sign (=) in a sentence.
1) He is (L.v) a student (N). [He = a student]
i1) He is (L.v) good (adj) [ He = good]

i11) He 1s (L.v) a soft hearted person (phrase).

¢ Linking verb:
BRL GK FAST

\ 1 — | N

- \ -

B = Be (am/ is/ are/ was/ were/ shall be/ will be/ have been/ has been/ had
been/ shall have been/ will have bee

= Became (2€)

R = Remain (1<)

L =Look

G =Go (), grow

K =Keep (3140

F = Fell (%=1 <)

A = Appear (T-ifge @)

S = Sound (*% Re), seem (W F41),

stay (T e, smell (Je AT 1% (9671), stand (TRFF F40)
T = Taste (I (&)

40. He became a politician. Here 'became’ is a/ an: [RU (A, t&me) 16-17]

A. transitive verb B. linking verb  C. action verb D. intransitive verb Ans: B
41. Honey tastes sweet. Here 'taste’ is a/ an --- verb. [IU (Sn2+) 04-05]

A. linking B. intransitive C. non-finite D. none Ans:
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O Linking verb 99 shortcut:

¢ Subject + linking verb + complement (adjective).

Example:

1) He was (L.v) happy (adj).

i1) He is (L.v) good (adj).

iii) You are (L.v) intelligent (adj).

iv) You look sad (adj).

v) She is dishonest (Adj).

vi) I shall be (L.v) rich (Adj) one day.

vii) It is amazing (Adj). (45T 33 Srodew/ e
viii) It is interesting (Adj) (45T SIFEA).

ix) They are charming (Adj) (SR TCAYHF)
x) Mathematics is interesting (Adj).

xi) He is being (L.v) rude (Adj).

xii) You are being (L.v) selfish (Adj).

QO Sub + linking verb + Determiner + Complement (noun).

= He is (L.v) a (D) student (Noun). = She was (L.v) my (D) girlfriend (Noun).
* He is a comedian. = He was a dancer.
= [ am a teacher. = That man was a doctor.

= She has been (L.v) a teacher for past 5 years.
* [ am (L.v) Kamal. = It is (L.v) she, I was looking for.

U Sub + linking verb + complement (phrase).

* There are (L.v) beautiful flowers in the garden (phrase).
* He is (L.v) a soft-hearted person.

* We were in our party dress (phrase).

* He looks a kind-hearted man (phrase).

* Riya and Rima are best friend (Noun phrase).
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I GHO (TCECF "W FTO Prefer
©1? OF 1t it Move Fo

G ©ICF Propose - &e-

O AN =@ =G Urge

(&F MCT Insist WK Demand SIETN
=R fEreaT Ask ST

TONICF NI ARTES Requir

TSNS FICR NS SB[ Desire I,

O (NG ANCE

Suggest/ advise/ request FFCT
™ Command/ Recommend =er
¥ 7fer 200 A= =1
O O I AL ST G061 b Stipulate ZCAT
R SIF T 8PN Decree / F0* Order et o4

» Subjective verbs

3R I TS G wish ST | W otonainetn

Prefer () e sigw 341/ Like better

Move TIMGI/ OT AT eI/ FeCs e A Fed FI

Propose 2RI A1/ KR TS AR 1/ LR 41 |

Urge (ST) AN 2P RGN/ AR e e 1l/ @ e sl w91/ (e
e/ oSl 1 1 ST/ CGRICTT AR Bl

Insist ta ca 31/ com 1/ AN =0

Demand ISRl

Ask fereamTr <1

Requir TS RGN/ SR (14 741/ need/ ask for/ vrean/ wifs s/
demand.

Desire (feem) 2] 41/ wwrew! S/ wish for/ long for/ Searg <

Suggest A (ret

Advise TATH (RS
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Request NRS IR
Command A (ST
Recommend AT 4T
Stipulate (F5Fewn) | pfe v
Decree (&) 2P (Mel/ A et/ fifs w4
Order TR (reTl/ ST (reT
Wish 207 I/ AT el
O =[ e &

BRCW APU is V. MORDERN

shutterstwck:

Verb Adjective Noun
B | Best Best (1taf<g?) Best
(PRI <5411/ ZIIRAT () (. Ffog/  MAlFE
Rijkzi))
Recommend (7ifa=) Recommended Recommendation
Require (231&w =€) Required Requirement
(STR*1/ eTASI) (e ST &)
Request (Sramd 1) Requested (Fa) Request (Sa14)
Command (Scw=l 347) Commanded (Sifo) Command (Sw=)
Compulsory (Ir<rSETF)
Crucial
(PTTe/ TFoR/ &Fg)
Wish Wish (151/ 25=1)
(I3 541/ 2o REAT)
Advise Advised Advice (Ttw/ ==
(Tt (naT/ AR (e (== &/ fofes)
Ask (fereari w1/ wece siear) | Asked
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Prefer (*1ew 1) Preferable (3r2ea) Preference
(SCAT/ P
p Propose (2®I7 1) Proposed (e®I®) Proposal (2®19 #ifzgr)
Prescribe (ficw=r caeatm) Prescribed (F2ififee/ ffzw) | Prescription
(Tg=a/ faea=i/ fagre)
U Urge Urged (Sif&) Urgent (S=e<1/ SToIR=1<)
(orifis/ Temies/ Srefers )
Insist (&= ey =11/ R Insistence (t&™)
31/ fom )
I Imperative (2feams/
O/ ACT*PIHF)
Important (ewgae/ awarear)
Suggest Suggestive Suggestion
S (2= 41/ 2fere ) (Efrosid a1 o) (2fre/ Mo/ 2BI7)
Stipulate (pf& ==1) Stipulate (3f%)
\Y Vital (Sreiss/ Gide/
21T/ G TTRIT)
Mandatory Mandatory (Sta=/ FiEeR)
M (STARFTR/ LTS )
Move Move (vfs/ 51w/ wceT)
(S1S1/ =1/ 511/ ST 2e)
Order (Sttw 311/ @ (7ST) Order (Stcw/ foca=i/ =)
0 Obligatory
(RGO STFA)
Demand (wifs %) Demand (wifs/ wifzw)
Decree Decree
(TN (A&, AT (AN (STTw=1/ 2P/ AR/ e
D Desire Desired (S=1/ fo&=) Desire
(Z5= 41/ FINT F4T) (Zo=1/ A1/ ST/ SfeT)
E Essential Essential
(SrfRIg SR/ T TAmIe) (GEERASSIELIED!
Necessary (eife=r/ | Necessity
N AGAT) (SR*1F]/ eSSl
Notoceable
(FTAI/ =TS (7T TR G
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Tense/ Time

+  Tense *=f Latin ‘tempus’ *% (2t 9z | Tempus =t o 201 5’ |
+  Verb @3 3 fig 2e3@ swace Tense 36 |
+  Tense wcg Verb I<7ze 27 |

Present (V1) Past (V2) Past Participle (V3)
Write Wrote Written
Come Came Come
Am/is/are was/were been
Have/has had had
1. The tense of a verb is related to-. 2. . . . s0-5.
A. Time B. person C. place D. degree

¢ (Rule-1): [ W R =& TAI :
&R 8 @: GARDEN OF US

A - Always

D - Daily

G - Generally
R- Regularly

E - Every+ time word
N - Normally, Never

O - Often, Occasionally,

On + name of day,

F - Formally, Frequently,

U - Usually,

S - Sometimes, Seldom

G *Fete AR W Tense |

|

1. Present Indefinite

A4

Sub + Verb + Others

Example:

*  Your brother goes to school regularly.

*  The news _is always bad now- a- days.
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Your brother (go) to school regularly. &./.5 53-e.

A. goes B. had gone C. went D. going Ans. A
. FIGT: 2T T (regularly) == AHR, ACHT Present Indefinite @ 263 =4ie Verb @& present form.
Subject (Your brother) =T Singular, ©i¥ Singular Verb (goes) & | 12 T&3 =3 (A)
Shortcut T Verb @7 present form ¥ta8 Verb « Singular ¢ Plural form.
3. The news---always bad now- a- days. 1./ 0o-0
A.is B. are C. was D. were Ans. A
. JT: &TEF W (always) *MiG AP, ACHG Present Indefinite @ 23 €ie Verb @& present form.
Subject (News) =T Singular, ©i% Singular Verb (is) =3 | ©I% Teq 23 (A)
Shortcut T Verb @7 present form ¥ts8 Verb « Singular ¢ Plural form.
4. Rabindranath’s stories often ---- surprise ending. 5.9, T 00-0).
A. had B. have C. has D. have had Ans. B
. JrgT: AT M (often) *MifB AP, ACHT Present Indefinite @ =& wdR Verb @ present form.
Subject (Rabindranath’s stories) e Plural , ©18 Plural Verb (have) 23| 1% ¥ed 23 (B)

Shortcut @ Verb present form Sta2 Verb @ Singular € Plural form.
5. We often — a victim of circumstances. s=rm 255H506e weifsrm: oo, T ReRvyFR $865-4,05-03
A. fallen B. felt C. did fall D. fall Ans. D

. JrgT: AT M (often) *MifG AP, ACHT Present Indefinite @ =& <R Verb @ present form.
Subject (We) ==l Plural,, ©12 Plural Verb (fall) 231 ©I? s =1 (D)

Shortcut T Verb @7 present form ¥ts® Verb « Singular ¢ Plural form.
6. Shaheen — tennis once or twice a week. /= 4™ 28G: 9, 5a-5b
A. is playing usually B. is usually playing
C. usually plays D. plays usually Ans. C
. Jragt: ATaR W (usually) *MfS <R, A & Present Indefinite @ 23 4R Verb @@ present form.
Subject (Shaheen) =T Singular, ©1% Singular Verb (plays) 23 | ©18 Tes =1 (C)
Shortcut T Verb @7 present form ¥ts® Verb « Singular ¢ Plural form.

7. He — tennis twice a week. @f%: o5-30, 39: ob-0%
A. is playing usually B. usually plays
C. plays usually D. is usually playing Ans. B

. FIGT: TR e (usually) =G AR, AHHE Present Indefinite @ 263 wdie Verb @ present form.
Subject (He) =1 Singular, ©1% Singular Verb (plays) &3 | ©I2 $e7 =7 (B)
Shortcut T Verb @7 present form ¥ts® Verb « Singular ¢ Plural form.
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10.

11.

12.

13.

14.

15.

He — up at 7 o’ clock every morning. A1 0v-09q
A. got B. getting C. get D. gets Ans. D

JIT: AT WG (every morning) *Mfs AR, ICHG Present Indefinite @ =F wdie Verb «q
present form.Subject (He) 2= Singular, ©I% Singular Verb (gets) 29 | ©IR & =1 (D)

Shortcut &= Verb @3 present form wtag Verb «a Singular @ Plural form.
I --- on Saturday evening. T3 CHA RATER RSMHE F 53-59
A. will go B. am going C. go D. goes Ans. C

JHGT: &TF G (on Saturday) *@fs AR, IACHG Present Indefinite @ =3 iR Verb @q
present form.

He - dress formally to work but he always -. 2 : F 30-33, 5if% 28f5-2: 0q-ot
A. has not to, has B. does not have to,does
C. has got to, would not D. does not require to, would Ans. B

T Present Indefinite Tense -4 Negative o @ie*r 3™ person Singular Subject @
Mt does not @<k Plural Subject @3 31t do not I7=® = | ©R Ted =1 (B)

Find out the tense of the sentence “It is interesting”.

Tfqefq 28RG-«: 03¢, A 0v-09

A. Present indefinite B. Present continuous

C. Present perfect D. None Ans. A
Look at those black clouds. It -—-rain. &I 3G ‘E’ 53-50

A. will B. is going to C. would D. needs Ans. B

Choose the correct sentence from the following options: 1./.: 2T«5- F-50-38
A. How the servant does the work?

B. How do the servant does the work?

C. How does the servant the work?

D. How does the servant do the work? Ans. D
Which is the example of present indefinite tense? gfq: 08-o¢

A. He had an Indian cow B. The boy was seriously punished

C. The train left the station in time  D. None Ans. D
Find out the tense of the following sentence. Let it be done. T &, [, s0-5).
A. Present Indefinite B. Past Indefinite

C. Present perfect D. Past perfect Ans. A

I Imperative Sentence 3w, 74T Present Indefinite Tense 27 |
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*

16.

17.

18.

19.

20.

(Rule-2):

Universal Truth (o3 37%y)
General Truth (4R 37e7) Sub + Verb + Others
Habitual (SrejPieo)

>&ml Present Indefinite Tense 27 |
Example:
The sun rises in the east. /Universal Truth, fos@e oTe5]

When metal becomes hot it expands. /General Truth - 49 797]
I go twenty kilometers to work every day. /Habitual - S&77779]

Mars --- a planet in our solar system. .7, 9 ob-d0

A. are B.is C. will be D. was Ans. B
gt Mars-( To@aR)  ft cliaemices @i ated w1 -7 o7 7oy 64T |
©i? Sentence & Present Indefinite Tense -4 =¢T |

Habitual fact is expressed only in- 3. ob-ob T4 TEIFER N FAT OGRITF-0¢
A. present perfect tense B. present indefinite

C. past perfect tense D. past indefinite tense Ans.
When water -, it turns into ice. FtEr fry: (TEEEE F#7)- 33-32, GRS W PER TP AfvdF-08
A. freezes B. will freeze C.would freeze  D. froze Ans. A

T AW [General Truth - 4R 75] | ©18 Present Indefinite Tense -4 = |

When metal becomes hot it- @ 35f5-2: 3y-33, Gifes, w5y ¢ eiffma gram Topiz, AfpEe-od

A. expanding B. expanded C. expands D. expand Ans. C
T AW [General Truth - 4R 75] | ©18 Present Indefinite Tense -4 = |

I — twenty kilometers to work every day. Bif€: ob-50, 88f5: ¥, ob-d0

A. make B. do C. commute D. go Ans. D
[T AR [Habitual - Se59] | ©12 Present Indefinite Tense -4 2 |

34



English Code 3’53 areral 5ot 148 36 7,
%R, &, Code 8 (FMITHR AT AGITAT ZCACR |

English Code Code, G, 2R ¢ & ez Jrect

¢  (Rule-5): [ ¢ K =&t ©AY :
2R e @ : AJJREYIL

A - Already, E - Ever,

J - Just, Y - Yet,

J - Just now, I - Immediately
R - Recently, L - Lately

\ 4

q% =T AFE w Tense =

A\ 4

QPresem Perfect>

Sub + have / has + V3 (Verb pp ) + Others

Example:
He has gone out just now.
He has just gone out.

Just now he has had his dinner but he says he’ll see you when he’s finished.
They haven’t written their reports yet.
He has played for his club in 65 matches so far.
35. Which one is present perfect tense? e TEHAN FAFOI-205¢
A. I am walking B. I was walking
C. I have been walking D. I have walked Ans. D
Shortcut Rule = Sub + have/has+ V3 (Verbpp )1
= I have walked. ©1% Seq =3 (D)
36. He --- out just noOw. &=ag e TPRPRI-05¢
A. went B. goes C. has gone D. went a way Ans. C
. FIGT: AT Wy (just now) =¥fs AT, A Present Perfect @ =63 |
Shortcut Rule = Sub + have / has + V3 ( Verb pp ) + Others |
= He has gone out just now. IR &7 =9 (C)

Present (V1) Past (V2) Past Participle (V3)

go went gone

35



English Code %7 ate= o1 118 303 W,
%<}, T, Code ¢ (FMHTEd AT AT AR |

Engllsh Code Code, &, R s e st [

38.

39.

40.

41.

42.

43.

44,

45.

46.

He has just — out. 519 TSHG-: 0%-09

A. gone B. went C. going D. getting Ans. A
I just (get) my revenge at last. IR £ (Reeio): se-sv

A. have just got B. get C. have been got D. had got Ans. A
Just now he — his dinner but he says he’ll see you when he’s finished. xvo¥ g
A. is having B. has had C. has having D. had Ans. B
They — their reports yet. 5: 33-50

A. didn’t write B. have written

C. haven’t written D. aren’t written E. wrote Ans.
--- him yet? I TG 35-5

A. Don’t you meet B. Haven’t you met

C. Weren’t you meeting D. Didn’t you meet spectacular Ans.

I don’t think the window — yet. 5: o¢-ou

A. to be repaired B. was repaired  C. has repaired D. has been repaired Ans.

I — finished my letter yet . 5 ZTHG-3: 0b-04

A. am not B. had not C. have not D. did not Ans.
--- you ever — to the Sunderbans? =@ FRF AFTF-obr

A. Have, gone  B. Have, go C. Did, go D. Shall, go Ans.

Have you ever (to be) to cox’s Bazar? 2: o5-

A. Have you ever to be Cox’x Bazar?

B. Have you ever been to Cox’x Bazar?

C. Have you ever to being to Cox’x Bazar?

D. Have you ever been Cox’x Bazar? Ans.
He — for his club in 65 matches so far. 5 o8-o¢

A. has played B. is playing C. played D. has been playing Ans.

0 RG Ao ¥ 17 78 AT I
Facebook page - Taposh Academy =23

Youtube - Taposh Academy ¢s itz imeet S5 3¢a 4+ |
e IR, BLATE ATre @ JATS A AT =0 | WL
FRCHC S 2T AfSD FGITF THF (FTFC FIT ACR CIECAT IR I & |
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¢  (Rule-7): [ G AR 7R& TAY :
g9 e @™ : PB YALOLALA

P - Past, Previous day,

B - Back

Y - Yesterday,

A -Ago, Asif

L - Long time, long ago, long since

O - Once

La - Last + (day, night, week, month, year)

‘Adobe Stock | #225408450

G *¥ete A N Tense |

A\ 4

Q Past IndeﬁniD

Sub +V, (Verb past form) + Others

Example:
He came here yesterday.

My friend saw the president yesterday.

59. T3H Past tense? <7 AfGFg Sfmea-205¢

A. yesterday B. last month C. To3g D. FAGR 7 Ans. C
60. He --- go to his office yesterday. Fraafer =fes3-205¢

A. does not B. did not C. do not D. has not Ans. B
61. He --- here yesterday. &\ vyeR T=F< frFs-5©

A. has come B. came C. had came D. was coming Ans. B
62. Raju — here yesterday.qmy =fqw<s/T= qmy Afawd-5)

A. come B. came C. will came D. has come Ans. B

63. My friend (see) the president yesterday. f<: ov-0q

A. have seen B. seen C. see D. saw Ans. D
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Code az 353217

erera Tense €3 @b Code 43,
OITAT TGI TPIRCE TG ([ FAC AN |

P.I. T &3 code -1

P = Present
P.C. T @3 code -2 ‘

I = Indefinite
P. Per. T € code -3 o Cont
P. Per. C. T @3 code -4 - ontinuous
Pa.I. T <& code -5 Per = Perfect
Pa. C. T @a code —6 Pa = Past
Pa. Per. T <3 code -7 F = Future
Pa. Per. C. T @3 code -8
F.I. T &3 code -9
F.C.T @3 code -10
F. Per. T @ code -11
F.Per. C. T @3 code -12

Relation among Tense

¢  (Rule-1):

Since ] > 5

Present Indefinite + Since + Past Indefinite

Example: l @93%7 5
It is ten years since I met you.

|
Present Indefinite (1) Past Indefinite (5)

I. Choose the right form of verb: It’s many years since I (meet) you.

A. met B. meeting C. shall meet D. can meet Ans. A
* IMOE Itis ten years since Imet you.

Present Indefinite (1) Past Indefinite (5)

2. Since I — for our lunch, I — to attract the waiter’s attention. 5if< (3 Z8RG): 38-3¢

A. paid tried B. paid, will be trying

C. pay,tried D. was paying, tried Ans. C
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L 4

01.

02.

03.

04.

05.

06.

07.

08.

Right Form of Verb

(Rule-1): [ ¢ AR 3= TR : O1N2E3 + Man

O'— One
N? — None, Neither
E’ — Each, Either, Every + Verb (sl)

Ma - Many a/an
N - No + noun

'

QT #ts Verb @9 Singular 237 |

Example:
Every member of my family is here tonight.

Verb (sl)
Singular (Verb)) 7= 3R& THAIR:
Verb 533t ‘S’ I& =9 | @=: eats, is, was, has, does.

Every member of my family-here tonight. fafqa-od
A. are B.is C.in D. were E. be Ans. B
Each boy and each girl (dress) with a new dress. AN (EF): 0a-obr
A.wasdressed B. were dressed C. dresses D. have dressed  Ans. A
--- in this display is on sale.
A. Each furnitures B. Each pieces of furniture
C. Each piece of furniture D. Each furniture Ans. C
You must arrive early; every one else- ffg-sa-sv
A. does B. are C.don’t D. do E. wouldn’t Ans. A
None—helpless because they can always try. @R (-midfieim) so-38, 7l (Afaen): s2-vol
A. are B.is C. were D. was Ans. B
Many a student---his/her time in idleness Gt (WRF): 30-38

A. waste B. wastes C. wasting D. are wasting Ans. B
Many a flower---born to blush unseen. AR (W=F): ob-0b
A. are B. were C. was D.is Ans. D
The correct tense is- B9 (9 2TME): 33-5%

A. No boy and no girl perform well

B. No boy and no girl performs well

C. No boy and no girl have performed well

D. No boy and no girl are performed well Ans. B
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¢  (Rule-2):
O A =S ©AF : O1N2ES + of

0O' - one of

N’ - neither of, None of + Noun (pl) + Verb (sl)
E’ - either of, each of , every of

Q& #it Noun Plural 23 58 Verb «= Singular =)
Example:
*  Oneofmy friends is alawer.
Noun (pl) Verb (sl)
®  Singular (Verb)) (7 3= TAR:
Verb 53912 ‘S’ §% 263 | @: eats, is, was, has, does.

09.  Which sentence is correct? [yuow &, aii: 33-53, 72, ARCES (APTAT ¢ ZRCHT)-04, e FHFef-0v]

A. One of my friends are lawer B. One of my friends is lawer [rcamifsefR-5s-33]

C. One of my friends is a lawer D. One of my friends are lawers Ans. C
10.  Select the correct sentence. =if<: ov-0a

A. One of my uncle is lawyer B. One of my uncle are lawyer

C. One of my uncle is a lawyer D. One of my uncle is lawyer Ans. C
11.  Which sentence is correct? @< (2Bf5-7) SfS #1dr: y0-38

A. One of the boys absent B. One of the boys was absent

C. One of the boys have absent D. One of the boys has absent Ans. B
12.  She is one of the students who always late- R (BUAT) 13-14

A. come B. comes C. has come D. arrive Ans. B

13.  Atleast one of the students--- full marks every time :gov {1, V& eors fRE-s0,
SR RS WRT-0b | TG T FRATT-09 , A 0¢-0Y , TRIHAVNT [P4:93-30 | ARF-LIBAR 72: RrFss-30 |

A. get B. are getting C. gets D. have got Ans. C
14.  Which one is correct? T TBRG-T, 95-33

A. One of my cousins are a doctor ~ B. One of my cousin is a doctor

C. One of my cousins is a doctor D. One of my cousin are a doctor Ans. C
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Choose the correct sentence. B9 TTRG-: 30-5)

A. One of the problems are extremely easy to solve
B. One of the problems is extremely easy to solve
C. One of the problem is extremely easy to solve

D. One of the problem’s are extremely easy to solve Ans. B
16.  One of the my friends-— a student of Rajshahi University. st g8f5-7 33-53

A.is B. are C. is being D. being Ans. A
17.  Choose the correct sentence. TACEET A TaE FAFf-0b

A. One of my best friends are getting married today.
B. One of my best friend is getting married today.
C. One of my best friend are getting married today.

D. One of my best friends is getting married today. Ans. D
18.  One of the students----full marks every time. =f: o¢-ov

A. have got B. are getting C. get D. gets Ans. D
19.  One of the professors greatest attributes is-—- G BBfG-1: 35-5%

A. When he gives lectures B. How in the manner that he lectures

C. The way to give lectures D. His ability to lecture Ans. D
20. Last year, one of the major---load shedding.  »&: T8fF fE-32-30

A. problems is B. problem was

C. problems was D. problems has been Ans. C
21.  One of the major—load sheding 5 S0-3)

A. problems are B. problem is

C. problems is D. problematic issue is Ans. C
22.  One of the --- of globalization is cultural-. vif7 2efE-4, 5y-33, RER: - 32-v0

A. effect, shock B. effects, surprise

C. effects, assault D. confusion Ans. C
23.  Each of the students who filled out the admission form---the test. &&9-5a-sv

A. have appeared at B. has appeared at

C. are appearing at D. is appearing Ans. B

24.  Choose the correct sentence. =if: 53-50
A. A few of the three boys got a prize
B. Each of the three boys gots a prize
C. Every of the three boy got a prize
D. All the three boy got a prize Ans. B
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Either of the —to blame for the damage. B9 TTE-: 3533
A. three girls are B. three girls have
C. two girls are D. two girls is Ans. D

26.  Neither of the students—turned in the term papers to the teachers yet. 5 =: yo-38

A.is B. has C. have D. was Ans. B
27.  Which one is correct? 2F:sy-32

A. Neither of these two woman are to be trusted

B. Neither of these woman is to be trusted

C. Neither of these two woman are to be trusted

D. Neither of these two woman has to be trusted Ans. B
28.  Choose the correct sentence. BIfS Z8AG-2: 30-5)

A. Neither of the roads lead to the railway station

B. Neither of the roads leads to the railway station

C. Neither of the roads are leading to the railway station

D. Neither roads are led to he railway station Ans. B
29.  Choose the correct sentence. v/ 28HG-9: 30-53

A. Neither of the those mattresses feel comfortable

B. Neither of the those mattresses are feeling comfortable

C. Neither of the those mattresses feels comfortable

D. Neither of the those mattresses have felt comfortable Ans. C
30. Choose the correct sentence. 517 28f5-7: ob-os

A. Neither of these two women are to be trusted

B. Neither of these two women is to be trusted

C. Neither of these two women are to be trusted

D. Neither of these two women has to be trusted Ans. B
31. fAwos @ wae 5: 30-33

A. I do not take fruits B. I have no appeite in food

C. He gave me some good advice D. Neither of us was present Ans. D
32.  Choose the correct sentence- AT TOWG-E: d0-38

A. None of the pen writes well B. No one of the pen writes well

C. None of the pens writes well D. None of the pens write well Ans. C
33.  Which of the following sentence is correct ? Al 35-5

A. Any of the three pen will do B. Any of the three pens will do

C. Either of the three pen will do D. Either the three pens will do Ans. B
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¢  (Rule-3): [J W IRE =& &AW : Wait

W - with

a - along with, as well as, accompanied with

i - including + Subject (3%) + Verb

t - together with

QTR =R 9fb Subject & FA 37 Subject WP Verb I |
Example:

He as well as his two brothers is a skillful driver.

Subject (sl) Verb (sl)
They as well as he are incorrect.
Subject (pl) Verb (pl)

®  Singular (Verb)) (7 3=& TR
Verb 533t ‘S’ I& =9 | @=: eats, is, was, has, does.

34.  The verb agrees with the subject in- v 2752 5555

A. He as well as his two brothers are skilful drivers 1z, fewes Aimfs-o

B. He as well as his two brothers were skilful drivers (R T 4 74w siaerrere)

C. He as well as his two brothers have been skilful drivers

D. He as well as his two brothers is a skilful drivers Ans.D
35.  Mr. ali as well as his two sons (to be) present there yesterday. i< (F1): s3-y0

A. was B. were C.is D. are Ans. A
36. Identify the sentence with the appropriate subject --- verb agreement.

A. Each of them has five minutes to do the job T ZOG-4: 53-50

B. Karim as well as Rahim has visited the zoo

C. Many a man come to see the temple every year

D. Neither you nor I are to blame Ans. B
37. They as well as he --- incorrect. AR 93-3%
A.is B. are C. will D. was Ans. B

38.  Which sentence is correct? &< 2of5-3: 5-53
A. Tania as well as her friends are participating in the party
B. Tania as well as her friends is participating in the party
C. Tania and her friends is participating in the party
D. Tania with her friends are participating in the party Ans. B
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40.

41.

42.

43.

44,

45.

46.

47.

48.

Nipa as well as her brothers (come) to me. v F=I @ors faF7 © &oRT *RAF-30

A. have come B. are coming C. was gone D. has come Ans. D
Karim as well as his classmates---present in today’s meeting. 5: s0-

A.is B. are C.am D.areto E. remain Ans. A

Which sentence is correct? wif3: so-5

A. Rifat as well as his friends are participating in the programme

B. Rifat and his friends is participating in the programme

C. Rifat and his friend is participating in the programme

D. Rifat as well as his friends is participating in the programme Ans. D
Choose the correct sentence? @< obr-0b

A. The teacher, as well as the students, were present at the meeting

B. The teacher, as well as the students, was present at the meeting

C. The teacher, as well as the principal, were present at the meeting

D. The teacher, and his favorite students, were present at the meeting Ans. B
Fill in the blank: They as well as he — wrong. TGS AT (BFe*-0y

A.is B. be C. will D. not Ans. B
Which one of the following sentence is correct? v 38G-: 5u-5a

A. Aziz as well as Fahim know it B. Aziz and Fahim are know it

C. Aziz as well as Fahim knows it ~ D. Aziz and Fahim are know it Ans. C
Ruma as well as Jhuma --- happy. vR: 55-00

A.is B. are C. were D. have been Ans. A
The tiger as well as the leopard ---- a big cat. BIfR: Sb-ob

A.is B. are C. were D. have been Ans. A
Which sentence is correct? I 0Y-0q

A. Rafiq as well as his parents are going to the village home tomorrow

B. Rafiq as well as his parents is going to the village home tomorrow

C. His parents as well as Rafiq is going to the village home tomorrow

D. His parents and Rafiq is going to the village home tomorrow Ans. B
The verb agrees with the subject in- [z Reems «fimf-oo , Rige grEmar «fve smm w@e=m]

A. He as well as his two brothers are skilful drivers
B. He as well as his two brothers were skilful drivers BIf EBAE-4: Sbr-vb

C. He as well as his two brothers have been skilful drivers
D. He as well as his two brothers is a skilful drivers Ans. D
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49. Choose the correct sentence (e =i koo TNEERT KEHE)-0¢

A. Mary, as well as many of her relatives and friends, were invited to the party.

B. Mary, as well as her many of friends and relatives, were invited to the party

C. Mary, as well as many of her friends and relatives was invited to the party

D. Mary, as well as many of her relatives and friends, have been invited to the party Ans. C
50. The actress, along with her friends- @@ 53-53

A. are going to a party tonight B. is going to a party tonight

C. had been gone to a party tonight D. would be going to a party tonight  Ans. B
51.  Choose the best option. =fd ZfE-7: 35-33

A. The teacher along with the students were present

B. The teacher and a students was present

C. The teacher along with the students was present

D. Every student were with the teacher Ans. C
52.  The actress, along with her friends. TR BBfAE-3: 95-5%
A. are going to a party tonight B. is going to a party tonight

C. had been gone to a party tonight

D. would be going to a party tonight Ans. B
53. Show the correct use of ‘along with’- s “fimetss 5B “fvET-0q

A. Karim along with his sons were there

B. Karim along with his sons was there

C. Karim along with his sons are eating rice

D. Karim along with his sons have gone to Dhaka Ans. B
54.  She together with her teacher-present in the meeting. Y7 e T 9533
A. were B. was C. have D. had Ans. B

55. The verb aggrees with its subject in - 2%5 IBIT FIFof @l @ PP AMEF-0b
A. The mother together with the daughter was walking slowly
B. The mother together with the daughter were walking slowly
C. The mother together with the daughter had been walking slowly

D. The mother together with the daughter have been walking slowly Ans. A
56.  The father with his three sons- left the place- & s=z-+fwre (27)-03
A. have B. were C. has D. will Ans. C
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¢ (Rule-4):
(5 O AR RS S ;. EINS

E - Either---or /

N - Neither---nor /

N - Not---but /

N - Not only---but also /

v

Q=R BT 4f5 Subject T =T ¥ Subject SPAE Verb I |

+ Subject (F) + Verb

Example:

Either Rahim or they arg coming.

|

Subject (pl) erb (pl)

Neither she nor her sisters are responsible.

Vo

Subject (pl)  Verb (pl)
57. Identify the correct sentence. AT TBEG-T: 0v-30, S0-33
A. Either she or her sister is responsible
B. Neither she nor her sisters is responsible
C. Neither she nor her sisters are responsible
D. Either she nor her sister are responsible Ans. C
+ N Neither---nor &[T 46 Subject I =0T 33 Subject WPTca Verb 1 | ©IR e =1 (C)

58.  Neither Jane nor her brothers --- a consent form for tomorrow’s field trip.

A. need b. needs

C. is needing D. has need Ans. A
59.  Neither Sufia nor I --- capable of solving the problem. v Z&fGE-F: 2050-5

A. are B. were C.am D.is Ans. C

60.  Neither the students nor the teacher--about what happens on this trip. = gef5-4: 2050-3

A.is B. care C. was D. cares Ans. D
61. Which of these is correct? =fq T3R5-1: 33-53

A. Either he or his friends have pulled the wall down
B. Either he or his friends has pulled the wall down
C. Neither he or his friends have pulled the wall down  D.Bothb & ¢ Ans. A
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